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CALCULA EL TIEMPO EN MESES, QUE SE DEBE INVERTIR UN CAPITAL DE 

$90000.00 AL 45% ANUAL PARA QUE AL TÉRMINO DE ESTE, SE RECIBA UN 

MONTO DE $150,750 

 

 

 

C= 90,000                                                        150,750 

 

I = 45%                                                        (690,000) (45%) = 40500 

 

M= 150750.00                                              150,750- 90000 = 60750 

 

I = C I t                                                               40500           = $3,375 = 1 mes                                           

t = I / Ct                                                                 12 

 

t = 60750                                                             60,750          = 18 meses 

 90000 (0.0375)                                                    3375    

      

t = 60750 

      3375 

t = 18 meses 

 

 

 

 


